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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)

(iv)

(v)

(vi)
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This question paper contains 13 questions. All questions are compulsory.
This question paper consists of three Sections — Section A, B, and C.

Section A has 8 questions (Questions no. 1 to 8) of 2 marks each. Answers to
these questions should be completed within 50 words each.

Section B has 3 questions (Questions no. 9 to 11) of 4 marks each. Answers to
these questions should be completed within 100 words each. Answers of MAP
question should be attempted accordingly.

Section C has 2 questions (Questions no. 12 and 13) of 6 marks each. Answers
to these questions should be completed within 170 words each.

There is no overall choice in the question paper. However, an internal choice
has been provided in some questions. Only one of the choices in such questions
have to be attempted.

SECTION A
(a)  “Cultures are not static things.” Justify. 2
OR
(b)  “States have become more powerful as a result of globalisation.”
Support the statement. 2

“Despite the existence of anti-defection law, ‘Aya Ram Gaya Ram’ is

2”

popular in Indian Politics.” Support this statement with any two

examples. 2x1=2
Mention any two recommendations of the Mandal Commission. 2x1=2
Describe any two problems between India and Pakistan. 2x1=2

Why is National Democratic Alliance (NDA) III called a ‘Surplus Majority
Coalition’ ? Explain. 2

Highlight any two negative effects of globalisation. 2x1=2

3 P.T.O.
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WRA H Tofo Sel 3 Jguseid HFE1 o STRHA 1 foie & fohall ? ®iE q
o fafgu | 2x1=2

Qs 9

HUSH HHIRM hi TR 1 AL HEAT T SR AT [UDeH ol g
<! TeSm O Uek shed =1 T ST & 2 hig 2l R0 IJFR hifT | % 2=4

“Tfequr Tl % WA &9 H lhad U WIHE Hod 89 T 7 |7 HAT h
ST HIMT | 4
TR & feu T aeifos WEramfE (g5 5 W), § R T W @), @), ©
qar (D) o grI 3fehd foham 7T 8 | A= & T8 I o MR 9 3 TAT hi
g HIfoTT 3R Ut IT-YFEaeht T gk T A9, YA I TS BRI h
HA-TEA 9T YA | foar mn gefuq 1R, i & T diferet % &9 H
fofeu .

TN hl T8 THEGRI | T |

I HH-gE Hahm e | o0 o T

(1)

(i)

(iii)

(iv)

() a8 sy faeh faum gar | gaifees €id 8 |

(i) 8 Ts¥ fN98 YR & J9H 9 79 SR (1948 — 1950) hl TFee
T |

(ili) o8 TS & 1967 % faur @91 FATEl § HiUH Uel i agHd Ted a8l
B3 AT, Trq 36 3 Al ohl HEAAN § LRI &1 1 off |

(iv) 98 99 S 9a9 | heg I &5 2 | 4x1=4
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Describe any two flows related to globalisation. 2x1=2

Why have different organisations in India protested against the entry of
multinational companies ? Give any two reasons. 2x1=2

SECTION B

Why is the implementation of the recommendations of the Mandal
Commission considered a step to eradicate social and economic
backwardness ? Highlight any two reasons. 2x2=4

“Democracy is an accepted norm in the entire region of South Asia.”
Explain the statement. 4

In the given political outline map of India (on page 7), four States have
been marked as @), @), (©) and D). Identify these States on the basis of
the information given below and write their correct names in your
answer-book along with the respective serial number of the information

used and the concerned alphabets given in the map as per the following

format :
Serial number of the | Concerned alphabet | Name of the
information used in the map State

(i)
(ii)
(iii)
(iv)

(1) The State with the largest number of seats in its Legislative

Assembly.

(11) The State to which the first Indian Governor General
(1948 — 1950) belonged.

(iii)) The State where the Congress Party did not get majority in 1967
Assembly polls, but formed a government with the help of others.

(iv) The region which is a Union Territory now. 4x1=4




For question no. 11
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(11.1)

(11.2)

(11.3)

(11.4)

()

(@)

T % 98 &I A9 AT 1 A AT |

34 U9 o1 AW foafgu &t 1967 o foam™ @ gAmEl § M el Hi

JgHA U 81 3T o1, Wrq 38 3 Gl hl FEAT § HLHR a1 Al

off |

39 TSY &1 AW fafge E8 9id & YW 9RdE 9 Sd

(1948 — 1950) =pl GF-Y T |

39 T &1 9W foftgu fSreeht faum g § gatfoss € 8 )

Qs 1

I g AUl TERAT S GURH G 3o M TRl M whed

ISR HIST |

HAYAT

4x1=4

[ ol

3Ix2=6

Itk % Th ohg o &Y H JUUT §o hl fohral o TRRAT hl IATR

I |

3Ix2=6
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The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 11 :

(11.1)

(11.2)

(11.3)

(11.4)

(a)

(b)

Name the first Chief Election Commissioner of India.

Name the State where Congress Party did not get majority in
1967 Assembly polls, but formed a government with the help of

others.

Name the State to which the first Indian Governor General

(1948 — 1950) belonged.

Name the State with the largest number of seats in its Legislative

Assembly. 4x1=4

SECTION C

Highlight any three steps taken by China to improve its

economy. 3x2=6

OR

Highlight any three strengths of the European Union as a centre of

power. 3Ix2=6

9 P.T.O.
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AYAT

(@) o1 1975 | SRS shl ENTUT AT 3TEYIh AT ? 37U I o &1 |

~

g M IUYH deh [oTRaT | 3x2=6
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(a)

(b)
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Highlight any three reasons for the opposition parties to come

together to form Janata Party in 1977. 3x2=6

OR

Was the declaration of emergency in 1975 necessary ? Support

your answer with any three suitable arguments. 3x2=6
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